ITEM NO. PART NUMBER DESCRIPTION QTY. REV. DESCRIPTION DATE APPROVED
] 30-100082-00 SPINNING DISC, 115 TOOTH, 24 DP, 14.5 PA 8 POS ] 01 R A P Ao TYPE AND 11/23/2020 PD
2 11-100051-00 SPINNING MAP AXLE ] A RELEASED FOR PRODUCTION 10/6/2021 cJT
3 15-100032-00 SPINNING DISC OPTO BD, 8 POSITION ]
4 10-100212-00 SPINNER OPTO MTG BKT 1
5 10-100214-00 MOUNTING BRKT MAIN SPINNING DISC 1
6 10-100213-00 SPINNING DISC MOTOR MOUNTING PLATE 1
V4 15-100031-00 QUAD-STATE MOTOR CONTROLLER BD 1
8 23-005012-00 12VDC MOTOR, 4200 RPM 1
9 19-009035-05 POTC SPINNING MAP SINGLE MOTOR CABLE 1
10 30-000121-10 POTC SPINNING MAP GEAR, 18 TOOTH, 24 DP, 14.5 PA 1
11 96-000003-04 SLEEVE BEARING, FLANGED, OIL-EMBEDDED, 1/4" SHAFT, 1/4" L 2
12 10-000254-11 POTC SPINNING MAP ADJUSTMENT SCREW 1
13 30-000121-11 SPINNING GLAND NUT 1
14 30-000121-12 SPINNING JAM NUT 1
15 80-006208-08 8-32 x 1/2" PFH MS, 100° CA 1
16 92-000008-00 #8 FLAT WASHER, .19 ID, .443 OD, .06 TH 1
17 80-002008-06 8-32 X 3/8" HWH PHILLIPS MS, SERRATED 1
18 80-0000M3-06 M3 x 6MM PPH MS 2
19 82-009008-08 #8X1/2" AB SPECIAL HWH PHILLIPS SMS 3
20 85-004006-04 6-32 X 1/4" SET SCREW, CUP POINT, BLACK 2
21 91-000008-00 8-32 NYLON STOP NUT THIN 6
22 62-100053-00 TS SPINNING DISK DECAL ]
DISC MUST SPIN FREELY AFTER
ASSEMBLY BUT PRIOR TO MOTOR
INSTALLATION. GEARS TO HAVE
MODERATE BACKLASH (PLAY)
. WHEN FULLY ASSEMBLED.
®\B APPLY A SMALL AMOUNT
OF MAGNALUBE GREASE
S BLACK WIRE YELLOW WIRE TO SPINNING MAP GEAR
CONNECT/SOLDER YELLOW
WIRE TO POSITIVE TERMINAL ON
MOTOR. POSITIVE TERMINAL IS
INDICATED BY RED MARK/DOT.
WHEN APPLYING DECAL ®\©
ALIGN NOTCH WITH HOLE
IN SPINNING DISC
(19 =>.
APPLY LOCTITE 425
DETAIL A
SCALE 2: 1
NOTES:
1. INTERPRET DIMENSIONS AND TOLERANCES PER ASME Y14.5M-1994.
2. ALL DIMENSIONS AND TOLERANCES ARE IN INCHES. TR e ——
3. SUBMIT FIRST ARTICLE SAMPLE PRIOR TO PRODUCTION. ALLOWANCE VALUSS ARENOT CORRECT. | SEE BOM JJ PINBALL. LLC T
4. PARTS TO BE FREE OF BURRS AND SHARP EDGES. AL wteRL HagowaRe axorniss FINISH PD 11/23/2020 ’
5. ALL PEM HARDWARE TO BE ASSEMBLED PER MANUFACTURER'S SPECIFICATION. MIRTEE RO COMPIATT N/A APPROVED BY DATE TITLE
6. ALL UNDIMENSIONED FEATURES MUST FOLLOW THE SOLID MODEL. Do or” | e =S UNLESS OTHERWISE SPECIFIED SPINNING DISC ASSY 8 POS
7. TSC: THEORETICAL SHARP CORNER ParOR S atiios o oo HOLED SO0 SIZE SCALE | DWG. NO. REV
8. DIMENSIONS MARKED WITH AN(OVALARE INSPECTION DIMENSIONS JIPNAL LC RPROHBTED. XK 2008 ANGULAR& 2> D 19 51-100168-00 A

AND ARE TO BE CHECKED ON ALL ORDERS. DO NOT SCALE TO THIS DRAWING



	Sheet1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Detail View A (2 : 1)


